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ChHs - Air 1 vol ppm= CHa4 =50 vol ppm +1.0 +2.0
CaHs - Air 3.5volppm= Cs3Hs =500 vol ppm +1.0 +2.0
CaHg - \o 150 vol ppm= C3Hs =1.5vo0l% +1.0 +2.0
3 vol ppm= CO =50 vol ppm +15 +25
co-N
50 vol ppm= (60] =15vo0l% +1.0 +2.0
Cl-N 300 vol ppm=  CO2 =16vol% +1.0 +2.0
0.5 vol ppm= NO =1 vol ppm - +5.0
NO - N 1 vol ppm= NO =30 vol ppm +1.5 +2.5
30 vol ppm= NO =5vol% +1.0 +2.0
NO2 - Air 5 vol ppm= NO2 =50 vol ppm +5.0 -
O2- N 1vol%= 02 =25vol% +1.0 +2.0
0.5 vol ppm= SO2 =1 vol ppm - +5.0
SO2- N 1 vol ppm= SO2 =50 vol ppm +1.5 +2.5
50 vol ppm=  SO2 =1vol% *+1.0 *+2.0
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